=LPDB

*UXSD 5R]NiDG )5 & 7\J
o
™
=
n
oD
D
™
o3
7N 7N 7N
7\G] $QDIRPLD FIRZIHND =
GSRINDQUH GU = RINQD -DQXV] =DIC 7HRUD Z\FKRZDQLD -+IVIRUD NXIXU\ IJ\F]QHI
RUJDQLIDF\IQH FDRQUQH =) 5 II\FIQHIR Z Gl Z GUKDE SIRI 8-~
GU = RINQD B “IRTGHN ODIRHSVID ODIRHSVI\ (LIXV] =D
-DQXV] $ ZHUIHVD =DICFLD RQ 1LQH CFDRQIQH =) 5
)5 z 7N\J )5 z z
% 6]DQRZQL ) = INJ  ]DICFLD IUZDig = INJ  ]DICFLD IUZDig
< 3DEVIZR 1D OHIRG\ XFIHQID VIC L PLQ PIQ
Q VSRINDQX VIXGRZDQID Z Gl
0 RUIDQLIDFVIQ\P %3EHIHZVND $IQHVIND 7N 7N
REHFQRGil =DICFDRQUQH =) 5
RERZI3INRZD : _ 3RGVIDZ\ ERRJL Z Gl = \N:DG PRQRIUDIFTQ\
= NJ  ]DICFID WZDia =\FK OIFKDi =DIGFLD RQ = GUSDN/HRQ =DICFL
PIQ WQH )5 = DRQIQH )5
= N\J  DICFID ZDig : _
PIQ =N ]DICFID WZDia
‘ PLQ
7N 7N 7N 7N 7N 7N 7N
a $QDIRPLD FIiRZIHND 6IDINyZND 0Z Gl 3UND QRTQD Z  GU 3LV -HVIRULD NXUIXUN ILJNFQHI =DEDZ\ L JU\ UXFKRZH 3RGVIDZ\ ERRJL GZ G *[PQDVINND iZ PJU
@ GZ GU = RINQD -DQXV] = RINQD -DQXV] $&6 & _DIRI $&6 $ $&6 % iZ Gl KDE SIRI 8-~ iZ PJU%RED -DFHN U=\FK OIFKDi $ %RED -DFHN $
o $% )5 )5 & $86& :)5 & ODRHSVI\ (LIXV] $% $ )5 & )5 & )5 &
> : 5 & TN IDICFDNZDg
= N\J DIGFD IUZDig PLQ
PIQ
7N 7N 7N 7N 7N
8 3UND UGF]QD iZ 1RZD ZHRILD Z\FKRZDQID JHNNRDIHINND iz PJU 3lHIZV]D SRPRF S\IPINDLIDQHF 4Z P
L N OLFKDi $&6 $ $&6 % II\FIQHIR 0Z GU OLFKDIVND $IFID $&6 $ SUIHGPHG\FIQD 0Z -X 30 6]\PDQHN 3UDIFT\N
Ty $86& :)5 & = IRJGHN OD{RIHSV]D $86 % $&6 & =) EHWN. ODUXV] $ ODUID $&6 $(52%,&
I ZHIHVD $% H 5 & )5 - )5 &
o 5 &
= N\J  IDIGFID ZDig
PIQ




